 Name: __________________________
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UNIT 3: NOTES ON PROPORTIONAL AND LINEAR RELATIONSHIPS  

Pages 13 - 15
Model Problems:

1. Write an equation for a line that has a slope of 2 and passes through the point ( 4, 5 ).
Use slope/y-intercept form of an equation.

y  =  mx  +  b


m  =  2  =  slope

5  =  2  •  4  +  b

( x, y )  =  ( 4, 5 )  =  the point


5  =  8  +  b


solve for b  =  y-intercept

- 8    - 8  


- 3  =  b  

Answer:   y  =  2x  -  3
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2. Write an equation for a line that passes through the points ( 2, - 3 ) and 

( - 6, 1 ).

First find the slope:

m  =  y2  -  y1

m  =  1  -  - 3 
m  =  4
m  =  - ½ 


 
          x2  -  x1 

- 6  -  2
          - 8


y  =  mx  +  b

- 3  =  - ½  •  2  +  b

Use either point.

- 3  =  - 1  +  b


+ 1      + 1 


- 2  =  b


Answer:   y  =  - ½ x  -  2
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3. Complete the table of values and graph the function.

y  =  3x  +  1

y  =  3x  +  1
    
x         y 

y  =  3  •  - 1  +  1 
          - 1
- 2      

y  =  - 3  +  1

0 1

y  =  - 2

1 4
2 7

Y  =  3x  +  1
